Pagina 1

TC-1800

CARAT

REVISIE: 19-1-2024



CARAT

TC-1800

Pagina 2

Nr. |Omschrijving Artikelnummer Nr. |Omschrijving Artikelnummer
1 BOUT TBV ZAAGAS M8X20 XTC0010000 50 ACHTERHANDGREEP RECHTS XTC0500000
2 VLAKKE TUSSENRING @38X@20X3MM XTC0020000 51 ACHTERHANDGREEP LINKS XTC0510000
3 BUITENFLENS XTC0030000 52 SCHAKELAAR XTC0520000
4 BINNENFLENS XTC0040000 53 VEER XAGDS00249
5 SCHROEF M4X8 XTC0050000 54 SCHROEF M4X25 XTC0540000
6 AFDEKPLAAT XTC0060000 55 SCHROEF M4X14 XTCO0550000
7 ZAAGAS XTC0070000 56 TREKONTLASTING XTC0560000
8 SPIE 5X5X12MM XTCO080000 57 KABELTULE XTC0570000
9 PAKKING (VILT) XTC0090000 58 AANSLUITSNOER XTC0580000
10 KOGELLAGER 6202-2RS XTC0100000 59 HENDEL TBV SCHAKELAAR XTC0590000
11 CIRCLIP S-15 XTC0110000 60 ELECTRO-UNIT XTC0600000
12 SCHROEF M5X15 XTC0120000 61 IMBUSSLEUTEL 6 MM XTC0610000
13 LAGERHUIS XTC0130000 62 SCHROEF M4X8 XTC0620000
14 TANDWIEL XTC0140000 72 VLAKKE TUSSENRING XTC0720000
15 KOGELLAGER XTC0150000 73 RUBBER SPATLAP XTC0730000
16 SCHROEF M5X20 XTC0160000 75 KABEL CONNECTOR XTCO0750000
17 TANDWIELBAK XTC0170000 76 PRCD-SCHAKELAAR XAGDS00002
18 AFSLUITDOP STOFAFZUIGING XTC0180000 77 AARDE KABEL XTCO770000
19 ZAAGKAP XTC0190000 79 TANDVEERRING M4 XAM-FVO04TV
20 E-CLIP E-10 XTC0200000 80 KRUISKOP MACHINE SCHROEF (M4-0.7 x [XTC0820000
21 BOUT TBV DIEPTE-INSTELLING M8X12 XTCO021000N 81 WATERTOEVOER XTC0780000
22 VLAKKE TUSSENRING @8X@20X1MM XTC0220000 84 VELD (220V-94x54x45) XTC0830000
23 HENDEL TBV DIEPTEINSTELLING XTC0230000

24 SCHROEF M4X8 XTC0240000

25 RAIL TBV DIEPTE-INSTELLING XTC0250000

26 VOETPLAAT XTC0260001

27 GLISTRIPS XTC0270000

28 BORGRING XTC0280000

29 BUS #8,1X@15,9X18,3MM XTC0290000

30 AS TBV SCHARNIER XTC0300000

31 LANGSGELEIDER XTC0310000

32 DRAAIKNOP M5 XTC0320000

33 KOGELLAGER 6002-2RU XTC0330000

34 ASBLOKKERING XTC0340000

35 VENTILATORKAP XTC0350000

36 ANKER XTC0360000

37 KOGELLAGER 6200-2RU XTC0370000

38 VEERRING XTC0380000

39 SCHROEF TBV VELD M5X60 XTC0390000

40 VELD XCT0830000

41 VELDHUIS XTC0410000

42 VLAKKE TUSSENRING @5X@12X1,0MM [XTC0420000

43 SCHROEF M5X30 XTC0430000

44 SCHROEF M5X50 XTC0440000

45 KOOLBORSTELHOUDER XTC0450000

46 KOOLBORSTELSET XTC0460000

47 KOOLBORSTELKAP XTCO0470000

48 SCHROEF M5X20 XTC0480000

49 HANDGREEP VOOR XTC0490000

REVISIE: 19-1-2024




	Blad1

